7. (10 points) Sketch the graph of both y = In(x)
and y = e* below. Be sure to indicate which
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1. (20 points) Warmup: short answer. :
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3. (15 points) An object moving on a straight line
is s(t) =2+t+1t3 feet from its starting point at
time t seconds.

2. (10 points) Answer the following questions
concerning the function f(x) graphed below.

(a) What is the object’s velocity at time t?

V()= Sl(’f) = {14‘32&1 “C%ec_; \

(b) What is its acceler_aiiorl attime t?
A()=V(+) 2\ Ay 'F%ec Aec )

(c) Find its velocity when its acceleration is 12
feet per second per second.

Fiest Sind whaw alt]) =12

(a) Using the coordinate axis above, sketch
the graph of the derivative y = f/(x).

(b) Suppose g(x) = (f(x))2. Find g'(—2).
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4. (10 points) This problem concerns the functions f(x) =x® —3x and g(x) = 3x2 + 6x.
Find all x for which the tangent to y = f(x) at (x, f(x)) is parallel to the tangent to y = g(x) at (x, g(x)).
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5. (20 points) Find the following derivatives.
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6. (10 points) This question concerns the
equation X 4xy+y?="1.

(@) Use implicit differentiation to find %
d [ z z e
— | X+ a4+ = s "71
d)( 3 S Ax
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2y +294'= 2% -4
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(b) Use your answer from part (a) to find the l
equatlon of the tangent line to the graph m __ C\\Q \ = L’ -q
ax | (2,- 3 2 ~2(2)

of XX+xy+y?2=7 at the point (2, —3).




